B—ErRE SR

HFP=1800~

B8 B MM B ®
s W A B FT K
Hi6E 48 308 WiEB
R
i 852 5 =gl i g E B 1R kg PEE ws
1 WHN ) KR 1 50 6A A
2, VWHN = KR 1 50 TA 2%
3| WUN ) KR 1 50 8A A
4
5
6| VUM alll TR 1 50 10A D&
-
QLD =20 b= 1 40 160~200¢g ANBTHB
9
1o RKPY =X 2= 1 40 #300g
"o RKPY = B 1 30 4~6A D&
12
13
14
(CIAY BiR Rt 1 100 1A ANTHB
16
17| pPALDY BHEX =8 1 40 #100¢g 50
19
20 $DEE T 753 1 30 3A He
21| $9D&A FE )] 1 48 6A A
2| fnga F& BSE 1 6.0 10A A%
25
24 &B8 = EE 1 30 11~13A IV
25
26| NZZXD4 | BE BE 1 30 6~10A ANFTHB
27
28| PO SR JRH 1 4.0~60 1A D8
29
o FOADY | B4 AlF 1 30 50
X TAALEFDBI] Old. FT9BFAXUEUETD, BEERORR
KER = Ofk =« 1#k » 2% 1 TEA 1 1688 « SREDPKEF
Off s » - HBBKBT 2 aFE=FEIJrEhd
14k« - - BIBKIBIT XTEXE  ReeDBHEEZEC 3 SHE=[EEIHD
28k« 2870KEBT CERS. BBV LE T, 4 BERP
fit 080—5661—0372 5 BiI - BEP
ZEIETT % & 090-9551-5232 6 Bitd n
f 080-4032—-1253 7 BAKEEDSILED
mERHB% $h 090-2895-0083 8 BIER=[EILEMd



